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Sull marks for the questions.

Answer either in English or in Assamese.

1,' Answer the following questions : 1x8=8
OoR ePTIRE TeR il 3
(@ Who proposed the concept of
‘Geographical Cycle’?
‘ST SE AR N WoRpRRE
(b) Growth of nature-centric geography laid
the foundation of
(i) anthropological geography
(i) geomorphology
(iit) physical geography
(iv) environmental geography
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(iv) AR SeEE

Which one of the following is not a-

branch of Physical Geography ?
() Climatology |

(i) Geomorphology

(i) Soil Geography

(iv) Applied Geography
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Who proposed the theory of

Uniformitarianism ?

Tl Sl (P SRR ?
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- (¢) The popular name of Southern Obean is

(i) Indian Ocean

' (fi) Arctic Ocean
(i) Antarctic Ocean
(iv) Atlantic Ocean

- Y RPN S amﬁn tqoi

() OIS RN
(i) O TZAT -
(i) O TN
(iv) GG TR _

() The term ‘Ecology’ comes ffoin the two

Greek words '
(i) oikos and logos

(i) okios and logos
(iii) oikos and logy
(iv) okios and logus

SRS Ree’ oS! 45t s =g sfwl an&cs
(i) oikos < logos

" (ii) okios % logos
(i) oikos W% logy
(iv) okios W logus

1 (Sem-1) GGY/G 3 : Contd..




E (9)

h)

The trade wind is a type of
() planetary wind ’
(i) seasonal wind

(iiij) .sub-polar wind

(iv) polar wind

ey FoIE T wFR

() e IR

(i) Igafe ol = |

(iii) T TR JOT

(iv) COPTE TOR

Out of the total incoming solar

radiation, the reflected back radiation
from- the atmosphere and the earth’s
- surface is - '

i) 25%
(i) 45%

- (iii) 55%

(iv) 35%
| ozt 55 G R o, Tmen
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(i) 25%
(ii) 45%
(i) 55%
() 35%
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2.

Ansvver any six questions from the following :
. 2x6=12 .
i W Sl ﬁzww b @ﬂa e faal ¢
() What do you mean by the term ‘land—
_form ? '
PR i @il ? |
(b) Give a definition of physical gebgréphy.
eligfes woiER o ke fran )
() What is insolation ?
TR et e
(d) Name any two warm ocean currents.
Rcwica 751 8% il ires i o1
(e) What is peneplain ?
ARG FF AL
() * Give two examples of precipitation.
ST ol Twigae A -
(g) . What do you meah» by the term
‘Environment’ ?
AR 3wt B e
(h) Define biodiversity. -
A e
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() Why does wind blow? -,

- oy R Awe
() Cite examples of any two cold ocean
currents.
w51 Aot vnsﬁw [eaiiost @mw izl
Answer any four questlons from the followmg

5x4=20
T TPPTIEE 2 ﬁza?/mr SR e Be T ¢
(a) Trace .the growth of nature centric
geography. .
APfo-FH gmmﬁasm'wﬁﬁ 3t 1

(b) Explain . the relation between
- temperature and pressure. '

Telol W% AT bisi MG T I 1 |

(c) Write a note on the irnportanCe of study
- of Biogeography.

GR-gUAlleT SRR @Y TS af (1l foreit 1

(d) What is catastrophism ? State how the
catastrophic events bring about
changes on the surface of the earth.

- 1+4=5
SETRAM 2 ST ARG UoT @R
IR A I (1R T 39 =41
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() How do ocean currents orlglnate’»’ '
Explain.

TR IS (@FEE B T2 [ 9|
(/) Discuss about the interdisciplinary
- nature of physical geography.

SO QU SIERIRS 5@ A7~ SICaiioal
i |

. {g) Explain the heat budget of the earth

with a neat diagram.

ﬁﬁmfs@wtﬁsmanﬂw«mwn

(hj What. is biosphere ? State its
characteristics.

'ﬁaﬂwﬁWWRﬂﬁWWWI

. Answer any two questlons from the following :

10x2=20

TR PR S Rl GO o Tew e

(a) Discuss the meanlng and scope of .

physical geography. _

APOT Bralle o oI AR et w11

(b) Explain how landforms originate
according to W. M. Davis,

WM. Dav1saar§wmﬂ?$aﬁ®
IR s
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() Describe the pressure belts and wind
systems on the earth with suitable"
diagrams. 5+5=10

WWW{WWWW%W
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(d) Discuss the éc0pe and ‘signiﬁcan_ce of
oceanographic studies. i 5+5=10
Tw e SReg st I Sl ToAE

. SNCEIDAl 4|

(e) Discuss the elements and functions of
ecosystem with examples. 4+6=10

THIRRPTR AR oER SomiphR S f&m-
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